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2000000 1. CLRUSHY ELUUNKSLEP X 77285 - 77285 19 094,0 - 19094,0 30 459,4 - 30 4594 45 461,8 - 45 4618
(tnnn 2112000+wnnn 2113000)
vun @il
2112000(2. MUTSNLULUL HUUUTLANPCLLN X 77285 - 77285 19094,0 - 19094,0 30 459,4 - 30 459,4 45 461,8 - 45 461,8
nnhg'
2112300 | 2.3. Ltipphti wwpipntiwlyusts npuduptinphlip” ugpugyusd X 77285 - 77285 19094,0 19 094,0 30 459,4 30 459,4 45 461.8 45 461,8
Linnugdinduty wm filnnnnuilibtinho
2112310(2.3.1. pupwghl Utippht wwpnnbwlwl fpuwdwinphutip' 733100 77285 77285 19.094,0 19 094.0 304594 304594 45 461.8 45 461,8
unwgywd Gunwwpdwl wy| dwywpnwlttiphg, wn ey’
21123112 3.1.1. whunwluwb pyrgkihg, X 77285 77285 19 094,0 - 190940 30 459.4 304594 45 4618 45 461,8
unn_widnnd'
211231212.3 111 whnnyaywt §nndhg wwunghpwlywd Swiuutiph X 77285 77285 19 094,0 19 094.0 30 4594 304594 45 4618 45 461,8
thatuhunnmand
1000000 (1l. CLYWULLLC TUuUGP X 77285 - 77285 19 094,0 - 19094,0 30 459,4 - 30 459,4 45 461,8 - 45 461,8

(innn 1100000+ wninn 4000000)

nun @idnn’

1100000 |U. CLEUSPY TUUGP X 77285 - 77285 190940 - 19 094,0 30 459,4 - 30 459,4 45 461,8 - 45 461,8
(tnnn 1110000+ winn 1120000 + tnnn 1140000+wnnn
1150000+ wnnn 1160000+winn 1170000)

vun palng!’

1110000 (1. UThUSULLP dUrausrnk@3nhy X 6 975,1 - 6 9751 17 087,8 - 17 087,8 27 500,4 (120,0) 27 380,4 41 350,6 (120,0) 41 230,6
(winn 1111000+ ninn 1112000+wnn 1113000 +wnn
1115000+wnnn 1116000)
nun_nilnot’
1111000] - Uphuwnnnutinh uhnwmnwdwndtin b hwdtijwdéwnlitin 411100 68751 6 8751 16 887.8 16 887.8 27200.4 272004 40 950.6 40 950.6
1115000/ - Uy Jwpdwinpniginiiitin 411500 100.0 100.0 200.0 200.0 300.0 (120.0) 180.0 400.0 (120.0) 280.0
1120000 (2. DUNU3NRR3NKRLLEND B4 UNPULLLENh X 728,4 - 728,4 1981,2 - 19812 29340 120,0 30540 40647 120,0 4184,7
ANLPLPNKY

(tnnn 1121000+ tninn 1122000 + wninn 1123000+ winn
1124000+ wninn 1125000+ winn 1126000)

sisen enelne

1121000 | 2.1. Swpmibwljulut Swpiuby X 160.0 - 160.0 269,2 - 269.2 - 423,0 662,0 - 662,0
1121400] - “uwwh dwnwinaimiibin 421400 160.0 160.0 269.2 269.2 423.0 615.0 615.0
1121500] - Uwwhnwa pwlus Swhutin 421500 ) 2 R T b : 47.0 47.0
1122000)2.2. O ynnuilwt gnpdninnutubiph gdny Swifuuty x 250,0 - 250,0 602,0 - 602,0 120.0-| . #i122,0 1117,0 120,0 1237,0
1122100] - Ltippht anpdninnwdubin 422100 250.0 250.0 602.0 602.0 120.0° |00 A1122.0 1117.0 120.0 1237.0
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1123000 | 2.3. Muydwlwqpuyht wyy dwnuynyggnibtiph dnpptipn:d x 40,0 - 40,0 100,0 - 100,0 174,0 - 174,0 395,0 - 395,0
1123200 iuu)mhuﬂmsunhh Swnuynipintuitin 423200 = 2 ) _ 95.0 95.0
1123700] - Lbtinhwwamaswlwl duituutin 423700 40.0 40.0 100.0 100.0 174.0 174.0 300.0 300.0
1125000 | 2.5. Cbppwghly unpngmd U wpwhuwwting x 73,4 - 73,4 120,0 - 120,0 280,0 - 280,0 500,0 - 500.0
(Swnuynignibiblip b bynatip)
1125200{  Utiptiwtitiph &t swppunfnpnudutiph ppwghly Unpngnid b 425200 734 73,4 1200 120,0 280,0 280,0 500.,0 500.0
mnthutinud
1126000 | 2.6. Uymippbip (wypwbipbitin) x 205,0 - 205,0 890.0 - 890,0 1055,0 - 1055,0 1390,7 - 1390,7
1126100] ~ 9 pwutityuiiuiht inetin U hwgmun 426100 70.0 /0.0 120.0 120.0 200.0 200.0 313.7 313.7
1126400] - Snwhuwnnnunhl binystin 426400 100.0 100.0 598.0 598.0 648.0 648.0 798.4 798.4
1126700] - Stuqunuitht U hwipwihts ulitinh Uiniatin 426700 15.0 15.0 115.0 115.0 150.0 150,0 216 2216
1126800 - Cwunmly bwwwnwluiht wy Wingetip 426900 20.0 20.0 57.0 57.0 57.0 57.0 57.0 57.0
1170000(7. U3L DUuULP x 25,0 - 25,0 25,0 - 25,0 25,0 - 25,0 46,5 - 46,5
win_ednud’
1172000 |7.2. Cwpytp, wpupigpuinhp dwpbbp b qpnydbp, npnbip x 25,0 o 25,0 25,0 - 25,0 25,0 - 25,0 46,5 - 46,5
Yunwdupdwt puppbp dulupnuliutiph inndhg
Uhowndmd &b Jhduwba blwwnddwde
1172100] - Ushuwmnwdwndh Hnun - . <
1172200{ - Uy hwplbtin = = % . = M5 215
1172300] - Mwpunwnhp Yowpltin 25,0 25,0 25,0 25,0 25,0 250 25,0
5126000 | 2.6. Cuptiepnt dwdwbiwuippgutinid Yuquwlbpuyniy - - - - - : < ) 5 - g
huipdh wquip dhonqlibp
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